2-Way ANOVA in Randomized Block Design
· Response: Y=Hairiness index of worsted yarns.

· Factor A: Twist level: 373tpm, 563tpm, 665tpm

· Factor B: Test Speed: 25m/min, 100m/min, 400m/min

· Blocking Factor: Bobbin: 1,2,3,4,5,6

ANOVA

	Source of Variation
	DF
	SS
	MS
	F_obs
	F(.05)
	P-value

	Twist Level
	 
	 
	 
	 
	 
	 

	Test Speed
	 
	 
	 
	 
	 
	 

	TL x TS
	 
	 
	 
	 
	 
	 

	Bobbin
	 
	 
	 
	 
	 
	 

	Error
	 
	 
	 
	 
	 
	 

	Total
	 
	 
	 
	 
	 
	 


Are we justified in assuming additive effects for twist level and test speed? ____
Comparisons among twist levels and test speeds: 

MSE = ______    dfE = ___  # trts=C= ______  Reps for each level ___________
Tukey’s HSD =  
 Bonferroni’s MSD = 

	Twist Levels
	Mean1
	Mean2
	Diff
	Conclude

	373 - 563
	 
	 
	 
	 

	373 - 665
	 
	 
	 
	 

	563 - 665
	 
	 
	 
	 

	Test Speeds
	 
	 
	 
	 

	25 - 100
	 
	 
	 
	 

	25 - 400
	 
	 
	 
	 

	100 - 400
	 
	 
	 
	 


